CHAPTER 4 TEST ON LESSONS 4.1-4.6
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	1.  Given

	2. <A congruent <C
	2.Def of isosceles
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	5. Triangle ABD congruent to Triangle CBD
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	6.CPCTC

	7. BD bisects < ABC
	Converse of Angle Bisector
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AB=______________________________________________________________________________________________
BC=______________________________________________________________________________________________
AC=______________________________________________________________________________________________
Classify the triangle by its sides_____________________________________________________________________


7. 

[image: Macintosh HD:Users:tracypullo:Desktop:Screen Shot 2015-10-30 at 6.48.58 PM.png].


image2.png
Given: EG=TA

/EGA = /IAG
Prove: Z/GEN = ZAIN
Proof:
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Given: DA || TN
DA =YN
Prove: Z/ZNDY = /DNA
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Given: AABC is an isosceles triangle with base AC.
D is the midpoint of AC.

Prove: BD bisects ZABC.
Proof:
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AABC is an isosceles triangle with base AC.
D is the midpoint of AC.
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Write a two column proof.
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Given: ZS = /U; TR bisects ZSTU.
Prove: ZSRT = ZURT
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Find the measures of the sides of AABC with vertices A(1, 5),
B(3, —2), and C(-3, 0). Classify the triangle by sides.
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Find the measure of each angle in
the figure.
5. ms1 6. ms2

7. ms3 8. mz4
9. ms5 10. m26
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Given: L is the midpoint of J.
JE || NiT

Prove: AJKL = AMNL

Proof:
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